
IJB?FGU?�HILBQ?KDB?�FH>MEB�K?JBB�IJHF�– 368. 
 

Fh^meb�k_jbb�IJHF�– 368�ij_^gZagZq_gu��^ey�jZ[hlu�\��
ZgZeh]h\uo� b� pbnjh\uo� \hehdhggh-hilbq_kdbo� ebgbyo�
k\yab� 
<�khklZ\�fh^me_c�\oh^yl�\ukhdhkdhjhklghc�GaInAsP p-i-n  
nhlh^bh^� b� ljZgkbfi_^Zgkguc� mkbebl_ev�� bf_xsbc�

jZkrbj_gguc� ^bgZfbq_kdbc� � ^bZiZahg� ^ey� ijb_fZ�

pbnjh\uo�kb]gZeh\�� 
<\h^� baemq_gby� hkms_kl\ey_lky� q_j_a� hlj_ahd�

fgh]hfh^h\h]h�beb�h^ghfh^h\h]h�\hehdhggh-hilbq_kdh]h�
dZ[_ey� k� \g_rgbf� ^bZf_ljhf� ���� ff�� b� hdhgph\Zggh]h�

klZg^Zjlguf�jZat_fhf� �FC, ST, SC���K_jby�kh^_j`bl�^\_�
fh^bnbdZpbb�fh^me_c�IJHF�– 368 –�������b�IJHF�– 368 -��������hilbfbabjh\Zgguo�gZ�ijb_f�
pbnjh\hc�bgnhjfZpbb�kh�kdhjhklvx��������b���������F[bl�k�khhl\_lkl\_ggh� 
 Ih�iZjZf_ljZf�b�jZkiheh`_gbx�\u\h^h\�k_jby�IJHF�–�����y\ey_lky�ZgZeh]hf�ijb_fguo�
fh^me_c�k_jbb�JL:V�nbjfu�³Nortel”. 

 
LZ[ebpZ����Hilbq_kdb_�iZjZf_lju� 

 
AgZq_gb_ 

IZjZf_lj 
fbg� lbi� fZdk� 

?^��

baf_j_gby 
Ki_dljZevguc�^bZiZahg 1,2  1,57 fdf 
Rmfh\Zy�ihehkZ� 
���IJHF�����- 34368 
���IJHF�����- 15552 

 
 

50 
110 

 F]p 

FbgbfZevgZy�^_l_dlbjm_fZy�fhsghklv��^ey�

pbnjh\uo�kb]gZeh\���1) 
���IJHF�����- 34368 
���IJHF�����- 15552 

 

 
 

− 42 
− 39 

 
 

^;f 

FZdkbfZevgZy�^_l_dlbjm_fZy�fhsghklv��^ey�

pbnjh\uo�kb]gZeh\���1) 
���GZijy`_gb_�kf_s_gby����<� 
���GZijy`_gb_�kf_s_gby��-�<� 

 
 

− 6 
− 3 

  ^;f 

Dhwnnbpb_gl�i_j_^Zqb 
���IJHF�����- 34368 
���IJHF�����- 15552 

 
 

25 
8 

 <�f<l 

Ki_dljZevgZy�iehlghklv�rmfZ�gZ�\oh^_ 
���IJHF�����- 34368 
���IJHF�����- 15552 

 
 

0,8 
0,9 

 
( )

=p

<l
1210−⋅  

FZdkbfZevguc�jZafZo�\uoh^gh]h�gZijy`_gby�

^ey�ZgZeh]h\uo�kb]gZeh\ 
  2 < 

G_ebg_cghklv�Zfieblm^ghc�oZjZdl_jbklbdb�^ey�

ZgZeh]h\uo�kb]gZeh\ 
  1 % 

 
LZ[ebpZ����We_dljbq_kdb_�iZjZf_lju� 

 
AgZq_gb_ 

IZjZf_lj 
fbg� lbi� fZdk� 

?^��

baf_j_gby 
GZijy`_gb_�iblZgby 4,5 5,0 5,5 < 
Ihlj_[ey_fuc�lhd   30 f: 
Ihklhyggh_�gZijy`_gb_�gZ�\uoh^_�fh^mey 0,5  1,8 < 
Khijhlb\e_gb_�gZ]jmadb 50   Hf 
GZijy`_gb_�kf_s_gby�nhlh^bh^Z -5  0 < 

 
 
 
 



LZ[ebpZ����IZjZf_lju�wdkiemZlZpbb� 
 

AgZq_gb_ 
IZjZf_lj 

fbg� lbi� fZdk� 
?^��

baf_j_gby 

JZ[hqZy�l_fi_jZlmjZ - 40  + 60 °K 
Ij_^_evgZy�l_fi_jZlmjZ - 60  + 70 °K 

 
 (1��AgZq_gb_�fZdkbfZevghc�b�fbgbfZevghc�^_l_dlbjm_fhc�fhsghklb�khhl\_lkl\m_l�

\_jhylghklb�hrb[db�ijb_fZ�bgnhjfZpbb���-9 ��ijb�ijb_f_�kb]gZeh\�kh�kdhjhklvx�������b�������
F[bl�k�fbgbfZevgZy�^_l_dlbjm_fZy�fhsghklv�^ey�fh^mey�IJHF����–�������khklZ\ey_l��
khhl\_lkl\_ggh��fbgmk����b�fbgmk����^;f� 
 Fh^mev�ba]hlh\ey_lky�\�f_lZeehkl_deygghf�dhjimk_�7/�- 155 - 8 –�������]Z[Zjblgu_�b�
ijbkh_^bgbl_evgu_�jZaf_ju�ihdZaZgu�gZ�jbk���� 
 
Jbk�� 

GZagZq_gb_�\u\h^h\ 
 

1. kf_s_gb_�nhlh^bh^Z��«fbgmk��<� 
2. h[sbc� 
3. k\h[h^guc� 
4. \uoh^� 
5. h[sbc� 
6. h[sbc� 
7. iblZgb_���<� 
8. h[sbc� 

 
 
 
 
 

 
>ey�h[_ki_q_gby�mdZaZggh]h�\�lZ[ebp_�mjh\gy�fZdkbfZevghc�^_l_dlbjm_fhc�fhsghklb������

-���^;f�j_dhf_g^m_lky�ih^Z\Zlv�gZijy`_gb_�–��<�gZ�\u\h^�1�³kf_s_gb_�nhlh^bh^Z´� 
 
J_dhf_g^m_fZy�ko_fZ�\dexq_gby�ij_^klZ\e_gZ�gZ�jbk���� 

Jbk���� 
 

 
 
 
 
 
 
 
 
 

 


